o/ d m M d y**Y [pbiGeV]

Ratio to ATLAS

1072

[EEY

13000 GeV pp tt
S N Y L I B B B | e
- | . 1
M(ttbar) (ATLAS semileptonic ttbar) B
=
—  m  ATLAS 4
— -+~ Pythia 6.428 355 qn
0 Pythia 6.428 356 1S
—A— Pythia 6.428 370 15
Pythia 6.428 379 =
B Pythia 6.428 ambt1 Bk
e Pythla 6 428 z2

B iy
o™
— <
o™
o o
o
- ™M
—
x
— — 5,
— -
- 1S
B -
~ 1o
- —©
[%)]
B 72
o
- — O
| | | | | | [ | | | | | | | [ | -

: T T | T T T T | T T T T | T T |:
— —2
[op——— > s ] 1

— A CERIRREiaaooo ;g —]

—0.5
" 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " |
500 1000 1500 ary 2000
ar
m®™ % [GeV], y L}I n [0,0.4]



	Contents
	Page 1


